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

 







GMAT 
 
 

Name No.: R: M:

PRAGATHI EDUCATIONAL INSTITUTIONS
DIV TEST - 2            (14.04.2015) ( SGT)   AVANIGADDA       08671-272474


 

 
 


  












 



   

        


 
 








 





 
 


 
 






















   

PUT BUT 


   


 
 
 
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
 
 
  


 






 
 

PUT, BUT BUT


 
 


   



 


 







   


 
 


  


 
 


   


   


 


   


   

     


  


   
   


  

       


  


   





   







   


   


 
 


 



   

         


       



   



   


   


   


 
 


 
 

12x4+8x3-9x2+3 
   

3x2-27
   

1/x=1/y+1/zx=5, y=3z= ?
   

6x-3y+z, 2x-y-z
-4x-2y-2x 4x-2y+2x -4x-2y+2z4x+2y+2z

x+1/x=3x2+1/x2=?
   

a4-8a2b2+2b4a4+4a2b2+2b4 
12a2b 12a2b2 8ab 9a2b2

axy-bcz+bcxy-az
(ab+c)(z-cx) (a+bc)(xy-z)
(ac+b)(xy-z) (b+ac)(xy-z)

a=10, b=20a/2+1/b=2/c  c=.........
   

3x+4y=16, xy=29x2+16y2=........
   

3x=(81)2x= ..........
   

2x+3<11x
   

16a2b2, 24b2
16a2 24b2 8b2 8a2b4

2a-6b+2c
-2a+6b+2c-2a+6b-2c 2a-6b-2c-2a-6b-2c

0.2(2x-1)-0.5(3x-1)=0.4x
   

A=a+b+c, B=a-b+c, C=a+b-cA-(B-C)=
a+3b-c a-3b+c a+3b+c a-3b-c

(a3+1)(a+1)
a2+a+1 a2+2a+1 a2-2a+1 a2-a+1

2a9-32a
2(a9-16) 2(a9-32)
2a(a4+4)(a2+2)  2a(a4+4)(a2+2)(a2-2)

a+b+ax+bx
a b a+x 1+x

a+b=b+a
  
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4t2-t+1/16=
(2t+1/4)(2t+1/4) (2t-1/4)(2t-1/4)
(2t+1/4)(2t-1/4) (t+1/4)(t+1/4)

A={x/x  x, x R}
A=0 A=  A=  A={x}

n(A)=3, n(B)=5n(AB)=.........
   

A BA-B=
A B   

R={(x, 3) / x {1, 2, 3}}
{1, 2, 3} {1} {2} {3}


 




   


    




  


   
 

NH4 NO3 + 20% TNT NH4NO3+Al 
(NH4) SO4 + 20% TNT NH4OH + Al 


 
 
















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

   


   


  



 
 


 
 





   


   
125-134 Identify suitable verb forms for the following

125. He ........... tea every morning.
1. drink 2. drinks 3. drank 4. drunk

126. She ........... songs now.
1. sing 2. sings 3. sang 4. is singing

127. Gopi ........... all the biscuits. There are not any left for you
1. has eaten 2. have eaten 3. had eaten   4. are not eaten

128. He ........... for five hours and is still sleeping
1. has slept  2. have slept  3. has been sleeping  4. had been sleeping

129. I ............ his letter a week ago
1. receive 2. received 3. have received 4. none

130. When I saw him, he.........chess
1. play 2. playing 3. was playing 4. is playing

131. Choose past rerfect tense verb
1. has 2. have 3. did 4. had

132. When I reached the station, the train had left. So I ............. get
in to the train

1. can 2. could not 3. could 4. can’t
133. I’m sure I ........... a first class.

1. get 2. got 3. will get 4. none
134. Let’s wait till he .......... his work

1. finish 2. will finish 3. finished 4. finishes
135-144 Choose suitable conditional caluses for the following

135. If I like it,
1. I shall buy it 2. I should buy it
3. I should have bought it 4. all
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136. Unless you work harder,
1. you shall not fail 2. you will fail
3. you won’t fail 4. both 1 & 3

137. Had I the wings of a bird
1. I will fly  2. I should n’t fly 3. I should fly  4. I would n’t fly

138. Were he more honest
1. He would not be happier 2. He should not be happier
3. He shall be happier 4. He would be happier

139. Whichever road we take,
1. we shall be too late 2. we shalln’t be too late
3. we should be too late 4. we would have beet too late

140. If this story were false,
1. what shall you do? 2. what should you do?
3. what should have you done? 4. none

141. I would do it at once
1. If I am you   2. If I would be you   3. If I were you 4. none

142. We shall stay at home
1. if it rained 2. if it is raining
3. if it would have rained 4. if it rains

143. I won’t pay it
1. unless he sends me the bill again
2. If he sends me the bill again
3. Unless he doesn’t send me the bill again 4. all

144. You wouldn’t have been punished,
1. if you had n’t been disobedience
2. unless you had been disobedience   3. both 1&2 4. none
145-152 Identify the suitable simple-compound-complex sentence

145. He was weary of failure. He emigrated to Africa.(simple)
1. Being weary of failure, he emigrated to Africa
2. Weary of failure, he emigrated to Africa
3. Emigrating to Africa, He was weary of faulure 4. both 1&2

146. I received no answer. I knocked a second time. (simple)
1. Receiving no answer, I knocked a second time
2. Knocking a second time, I received answer
3. Having knocked answer 4. none

147. We must eat or we cannot live. ( simple)
1. Having eat we live 2. We must eat to live
3. Living we must eat 4. all

148. Come in. Go out. (compound)
1. Come in or go out 2. Either come in or go out
3. Neither come in nor go out 4. both 1& 2

149. Do not be a borrower. Do not be a lender. ( compound)
1. Do not be a borrower or a lender
2. Be neither a borrower nor a lender
3. Either be a borrower or a lender 4. both 1&2

150. He is a fool. He is a knave. ( compound)
1. He is a fool and a knave 2. He is both a fool and a knave
3. He is not only a fool but also a knave 4. all

151. He will be late. That is certain. ( complex)
1. It is certain that he will be late
2. It was certain that he would be late
3. As he will be late, that is certain 4. all

152. You are repentant. I will not forget it. ( complex)
1. Since you are repentant, I will not for get it.
2. I will not forget that you are repentant
3. You are repentant and so I will not forget it
4. I will not be repentant and so you won’t forget it

153. Choose the suitable intonation for “pass me the salt please”
1. Falling tone 2. Rising tone
3. Rising-Falling tone 4. Falling-Rising tone

154. The word “Notification” has
1. 7 syllables 2. 6 syllables 3. 5 syllables 4. 4 syllables

155. The pronunciation of last letter in “ Physics” is
1. |s| 2. |z| 3. |iz| 4. none

156. “Match the words and sentences with pictures”. The above
task comes under

1. Listening 2. Speaking 3. Reading 4. Writing
157. Which strategy is useful to improve the pupil’s speaking skills?

1. Dictations 2. Comprehesion  3. Pictures 4. Oral drills
158. If you want to develop good hand writing skills among your

students, do not insist on
1. slant   2. pen hold  3. Direction & number of strokes  4. Fast writing

159. What kind of material should not be used for testing?
1. Listening passages      2. Reading comprehension passages
3. Prose lesson 4. Supplementary material










   


 
 

     



         





 
 





 
 


   


   


     






 
 

      


 
 

  


   


 


   
      





      


   
       

             


  



   


   
   

        


 

ALL THE BEST



Q.No Ans Q.No Ans Q.No Ans Q.No Ans
1 4 46 2 91 3 136 2
2 2 47 1 92 4 137 3
3 1 48 3 93 4 138 4
4 2 49 2 94 4 139 1
5 3 50 2 95 2 140 2
6 2 51 2 96 2 141 3
7 1 52 1 97 1 142 4
8 2 53 1 98 1 143 1
9 2 54 3 99 2 144 3

10 1 55 2 100 1 145 4
11 4 56 1 101 3 146 1
12 2 57 2 102 2 147 2
13 2 58 2 103 4 148 4
14 1 59 2 104 1 149 4
15 4 60 2 105 3 150 4
16 1 61 2 106 2 151 1
17 1 62 3 107 3 152 2
18 2 63 4 108 4 153 2
19 3 64 4 109 3 154 3
20 2 65 1 110 4 155 1
21 4 66 2 111 1 156 3
22 4 67 4 112 2 157 4
23 3 68 1 113 3 158 4
24 4 69 4 114 1 159 1
25 4 70 1 115 2 160 2
26 2 71 4 116 2 161 1
27 3 72 2 117 1 162 3
28 4 73 2 118 1 163 1
29 1 74 2 119 2 164 3
30 1 75 2 120 2 165 3
31 2 76 2 121 1 166 4
32 4 77 2 122 1 167 2
33 2 78 4 123 3 168 3
34 2 79 1 124 4 169 4
35 2 80 3 125 2 170 3
36 4 81 2 126 4 171 2
37 3 82 1 127 1 172 1
38 3 83 1 128 3 173 2
39 2 84 4 129 2 174 1
40 2 85 4 130 3 175 4
41 2 86 4 131 4 176 4
42 2 87 2 132 2 177 3
43 3 88 2 133 3 178 2
44 2 89 2 134 4 179 1
45 1 90 3 135 1 180 1
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